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NEW QUESTION 1
Refer to the exhibit.

What must be the default gateway of the servers in EPG Web?

A. subnet address of BD1
B. subnet address of L3Out
C. subnet address of BD2
D. NAT appliance

Answer: D

NEW QUESTION 2
What influences the number of ISLs that are required between Cisco MDS Series switches?

A. FCoE protocol
B. type of storage
C. end-to-end oversubscription ratio
D. N Port virtualization

Answer: C

NEW QUESTION 3
Which protocol prevents fiber failures from causing a Layer 2 loop in a dark fiber DCI?

A. BFD
B. UDLD
C. MCP
D. LLDP

Answer: B

NEW QUESTION 4
Refer to the exhibit.

The FCoE packets fail to be forwarded through the switch. What is the minimum MTU QoS requirement for the FCoE to work?

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 300-610 Questions & Answers shared by Certleader
https://www.certleader.com/300-610-dumps.html (170 Q&As)

A. 9000 bytes
B. 2000 bytes
C. 2158 bytes
D. 2240 bytes

Answer: B

NEW QUESTION 5
What is an advantage of Cisco HyperFlex Edge as compared to Cisco HyperFlex Standard Clusters?

A. Cisco Intersight automatically creates an invisible cloud witness.
B. Cisco UCS 5108 Blade Server chassis provides SEEPROM connectivity to solve split-brain scenarios.
C. Cisco UCS Manager provides service profile portability across nodes.
D. Cisco HyperFlex Edge provides native container support through the KVM hypervisor.

Answer: A

NEW QUESTION 6
A failure occurs on the network between two BFD and OSPF neighbors. Drag and drop the protocol actions from the left into the correct order on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 7
What is the disadvantage of asynchronous storage replication as compared to synchronous storage replication in a disaster recovery design?

A. reduction in application performance
B. distance limitations
C. specific backup requirements
D. potential data loss

Answer: D
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NEW QUESTION 8
Which orchestration tool provides a graphical interface to manage LAN and SAN fabrics?

A. Cisco Virtual Topology System
B. Cisco Data Center Network Manager
C. Cisco Nexus Fabric Manager
D. Cisco CloudCenter

Answer: B

NEW QUESTION 9
Drag and drop the technologies from the left onto the correct descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 10
An engineer is designing a data center that uses FCIP. How is QoS configured in this environment?

A. A separate DSCP value and CoPP must be configured for all FCIP traffic and another for all of the FCIP in the data connection.
B. A separate DSCP value must be configured for all FCIP VSAN traffic.
C. A separate DSCP value and priority queuing must be configured for all FCIP traffic.
D. Two separate DSCP values must be configured, one of all of the FCIP frames in the control TCP connection and another for all of the FCIP frames in the data
connection.

Answer: D

NEW QUESTION 10
Which mode must be enabled on a Cisco UCS Fabric Interconnect to connect directly to a storage array?

A. NPIV mode
B. FC end-host mode
C. NPV mode
D. FC switching mode

Answer: D
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Explanation: 
Section: Storage Network Design

NEW QUESTION 11
Which feature must be configured to connect a classical Ethernet network to a data center network so that the data center network appears to be one large switch.

A. VPC+
B. UDLD
C. EVPN
D. OSPF

Answer: C

NEW QUESTION 16
Drag and drop the data center technologies from the left onto the correct descriptions on the right. Not all technologies are used.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 18
Which Ethernet to Cisco Fabric Interconnect connectivity configuration is supported when FCoE is implemented?

A. VSS that has unified uplinks
B. Ethernet and unified ports on the same port channel
C. vPC that has unified uplinks
D. cross-connections with pinning

Answer: C
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NEW QUESTION 23
What is an advantage of using OTV as compared to VPLS for data center redundancy?

A. prevents loops on point-to-point links
B. provides head-end replication
C. uses a proactive MAC advertisement
D. provides full-mesh connectivity

Answer: A

NEW QUESTION 27
Which Cisco HyperFlex feature provides virtual machine-level cost scaling for desktop virtualization growth?

A. HyperFlex Edge support
B. encryption offload cards
C. dedicated compute nodes
D. fabric interconnects

Answer: A

NEW QUESTION 28
Refer to the exhibit.

A Cisco UCS chassis that has two IOMs is discovered. The chassis discovery policy creates a fabric port channel. What is the result of this policy?

A. Cisco UCS Manager creates two separate fabric port channels.
B. Cisco UCS Manager creates a single fabric port channel.
C. The port channel is disabled until an administrator enables it manually.
D. Each uplink that connects an IOM is configured as a discrete link.

Answer: A

NEW QUESTION 33
Which two methods mitigate congestion in a SAN network? (Choose two.)

A. Configure ER_RDY to allow splitting of each ISL between switches into separate virtual links.
B. Use the port-monitor command to detect slow drain devices.
C. Configure the port channel to enable individual buffer-to-buffer credits.
D. Configure the port monitor to allow categorization of a specific device as slow.
E. Configure the flow control for the FC to use R_RDY.

Answer: BD

NEW QUESTION 35
Which two vSphere features must be included in the design of a Cisco HyperFlex systems stretched cluster? (Choose two.)

A. HA
B. VSS
C. FT
D. VDP
E. DRS

Answer: AE
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NEW QUESTION 39
Which pools are used when a vNIC template is created in Cisco UCS Manager?

A. WWPN
B. UUID
C. MAC
D. IP

Answer: C

NEW QUESTION 42
Which authentication software natively runs within the CLI of Cisco NX-OS devices?

A. Python
B. Ansible
C. Puppet
D. Chef

Answer: B

NEW QUESTION 46
......
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